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1 A | =%tk 44 44 88 16.0 72.0 |HAEY

2 A |EKk B 44 38 82 9.0 73.0 | BAY

3L MR & 46 42 88 15.0 73.0 |EAY

4 N7 | &l Pk 36 42 78 4.0 74.0 |EH Y /BG

5 | IEA 40 44 84 10.0 74.0 |EAY

6 N7 | TP R 47 42 89 15.0 4.0 |BEHY

T ET IR 44 46 90 16.0 74.0 |'HAY

8 AL | Al EhE 44 47 91 16.0 75.0

9 N7 | A H BGE 41 43 84 8.0 76.0

10 fir | AF fE— 41 48 89 13.0 76.0

11 fir | KR & 45 41 86 9.0 77.0

12 A7 | AR 1536 43 44 87 10.0 77.0

13 7 |/ 1B 42 47 89 12.0 77.0

14 A7 | W B 41 42 83 5.0 78.0

15 {7 | bW & 43 44 87 9.0 78.0

16 A7 |7 ZRiE 47 40 87 9.0 78.0

17 A7 | KN E% 45 45 90 12.0 78.0

18 7 | Wil $5+ 51 45 96 18.0 78.0

19 {37 | &Kk Z&T 43 42 85 6.0 79.0

20 L | KAG —K 45 43 88 9.0 79.0

21 {7 | LB EE 48 40 88 .0 79.0

22 AL |3 BA 43 48 91 11.0 80.0

23 L | BH Koy 45 48 93 13.0 80. 0

24 AL | &R M OKER 49 44 93 13.0 80.0

25 fif |1l EKFH 50 45 95 15.0 80.0

26 AL | BIR Fok 44 48 92 11.0 81.0

27 \L | 5 LA 46 45 91 9.0 82.0

28 {ir | FEH TEA 46 48 94 12.0 82.0

29 N | 1247 V% 49 49 98 16.0 82.0

30 N7 | AK — 47 52 99 17.0 82.0

31 AL | A 42 47 89 6.0 83.0

32 {7 | EkE 1E 45 46 91 8.0 83.0

33 iL | K F 49 44 93 10.0 83.0

34 AL | B FH—HD 46 48 94 10.0 84.0

35 AL | AlA JAF 45 52 97 13.0 84.0

36 {7 |[fEA 1E 49 49 98 14. 0 84.0

37 L | EK MK 51 44 95 10.0 85.0

38 fiL | Al IEA 46 50 96 11.0 85.0

39 /7 | £ H B 46 48 94 8.0 86. 0

40 {7 | (LB 51 49 100 14.0 86. 0

41 o7 | % K#E 49 51 100 13.0 87.0

42 fr | KR A5+ 53 49 102 15.0 87.0

43 AL | HHE AIA 55 48 103 16.0 87.0

44 Ar | 51 53 104 17.0 87.0

45 7 | FosE 44 55 99 11.0 88.0

46 AL | ZH F5it 51 50 101 13.0 88.0

47 7 | FTH BET 49 57 106 18.0 88.0

0 0

48 AL | BEH EAS 48 51 99 10. 89.
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49 7 |[FAH {REk 52 50 102 13.0 89.0

50 {7 |JfN B 49 51 100 6.0 94. 0

51 fif |85 = 52 58 110 16.0 94.0

52 AL | AR BEH 55 63 118 18.0 | 100.0




